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Using (4-2), we see that: 1) ty 1s enabled sInce aI =2 M) =2, aI?_ =( <

M(2) = 0, a’"1’3 =0 <M(@3) =1, and a"]‘_'4 =0<M@)=0: 2) 15 1s not enabled since 352

— — —

=1>M(2) =0: 3)tyisenabled since a3y =0<M(1)=2, a3, =0<M2)=0. asz;

N

=1 <M(3)=1. and 354 =0 <M(4) =0, where the marking M = (2 0 1 0) 1s the mmtial

marking shown in the net.

Fig. 4.5. A Petri net used in Exercises 4.2 & 4.3 and Example 4.4

4.2.2 State Ekquation

In writing matrix equations, we write a marking M, as an m X 1 column vector.
The jth entry of My denotes the number ot tokens in place ) immediately after the kth

firing in some firing sequence. The kth firing or control vector uy isan n x 1 column

vector of (n — 1) O's and one non-zero entry, a 1 in the 1th position indicaung that

transition i fires at the kth firing. Since the ith row of the incidence matrix A denotes the




